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1.You receive a Marvis Actions alert informing you that there is a non-compliant AP at one of your sites.

What should you do to correct the problem?

A. Request an RMA.

B. Disconnect the Rogue AP from your Ethernet switch.

C. Replace the AP with the correct hardware model.

D. Install the correct version of firmware on the AP.

Answer: D

Explanation:

Reference: https://www.mist.com/documentation/what-is-marvis-actions/

2.When does a Mist AP actually begin transmitting BLE?

A. When it is claimed and placed on a site.

B. When it is placed on a floor plan.

C. When BLE is enabled at the Organization level.

D. When BLE is enabled for the AP.

Answer: D

Explanation:

Reference: https://www.mist.com/documentation/ble-mac-randomization/

3.Click the Exhibit button.
POhcy 1o test site - Juniper v

Site Policies
Each user/resources session is evaluated according to the list of Policy rules. The policy for the first matching rule is applied.
Add Rule || Edit Labels

Save Cancel

Usage (No. Sessions)

0 e

(= No. User (matching ALL Labels) Policy Resource [matching ANY Label)
0 N v CERETE ¢
Last All Users (v 4 All Resources

Referring to the exhibit, what would a guest user be able to do?
A. Use Gmail and Slack.

B. Use the Internet, except for Gmail and Slack.

C. Use the HP Printer and Internet.

D. Use only the Intranet.

Answer: B

4.Which two authentication methods would be used with a guest portal? (Choose two.)
A. social login

B. external portal

C.RSA

D. Kerberos

Answer: A,B

5.You have received a Marvis Actions Missing VLAN notification.
In this scenario, where is the problem?
A. The gateway is missing the VLAN.

2/3



The safer , easier way to help you pass any IT exams.

B. An access point is missing the VLAN.

C. Aclient is missing the VLAN.

D. A switch is missing the VLAN.

Answer: D

Explanation:

Reference: https://www.mist.com/documentation/what-is-marvis-actions/
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